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1.3 B2 ) 3,133 900 2,233 WA EE F9 1 2,233,0009%13]= 2,233,000
2.3 B A 3,574 5,300 -1,726
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3.0 Az} # A 96,023 94,918 1,105
1.7]8F a&ARe 2 A Y 96,023 94,918 1,105
1.[z]7]E usAA s A 96,023 94,918 1,105
2. 7149 720 360 360 | (B EA)EAFHFT 1 360,000 x10l= 360,000
3. GuEH| 30,385 30,240 145 | 5-8tel A& 145,0009+13]= 145,000
4. 54957 H] 1,200 600 600 ;ff U;d:)lﬁim’w‘%%ﬁg%m] + 300,000 600,000
37184 u&gs 56,216 55,737 479
1,03 &% 33,666 32,887 779
1. g9 26,668 27,663 -995
1I[=]gEFEHETY 535 600 -65
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2. 058 H| 7,590 8,240 -650 7| ZeEZE a9  —650,0009+13]= -650,000
2.8 wyss 814 820 -6
L[z]n4e9 814 820 -6
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